CARPETED GUIDE IN SYSTEMS W/BUMPER

ASSEMBLY INSTRUCTIONS
P/N5171-02575-00

Fig. 2

g
-l

Bolts

\

N
Ir
\

Tools Required EL—‘-CD E

-(2) 9/16" Sockets/Wrenches DOCKS & LIFTS
-Tape Measure
-Torque Wrench

1. Attatch the tube clamp bracket to the cradle beam
using the 3/8" x 3" bolts and nuts. See Fig. 1.
Once you have placed the brackets in their final
location, torque bolts to 35 ft. Ibs.

2. Insert Support Tubes into U-Clamp Tubes and tighten with
3/8" x 2 3/4" bolts and nuts. Torque to 50 ft. |bs.

3. Place the bunks over the tubes with the thru bolts to the
outside of the tubes. See Fig. 3.
Torque to 35 ft. lbs.

Bunk Fig. 3

Support Tube

\

3/8 Nylock Nut

\_/

Fig. 1

3/8 Nylock Nuts

] o )
/
U-Clamp Tube

3/8 X 2 3/4" Bolt
Fig. 2 UPDATED 2/7/22
611-02575-00




